!

Distributing circuit is turned on, then primary current flows to No. 1 igni-
tion coil. _

No. 1 pick-up coil

480° (1-1/3 turns)

Same as a. above, but no ignition takes place in No. 1 cylinder because it
is on exhaust stroke.

No. 3 pick-up no__“

600° (1-2/3 turns)

Same as b. above, but ignition takes place in No. 3 cylinder.

No. 2 pick-up coil

720° (2 turns)

!

The cycle of the
same events is repeated.

Same as c. above, but no ignition takes place in No. 2 cylinder because it
is on exhaust stroke.
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